[image: image1.jpg]


[image: image2.jpg]


[image: image3.jpg]


[image: image4.jpg]


[image: image5.jpg]-





[image: image6.jpg]


[image: image7.jpg]-




[image: image8.jpg]



[image: image9.jpg]-





[image: image10.jpg]


[image: image11.jpg]


[image: image12.jpg]-




[image: image13.jpg]


[image: image14.jpg]-




[image: image15.jpg]


[image: image16.jpg]Hydronic cxpansion Tank

Not for use on Potable water systems

| FLEXCON

A
INDUSTRIES
PLUMBING & HEATING DIVISION

Maximum Working
Pressure Temperature

100 PSIG 240°F

12/05





[image: image17.jpg]


[image: image18.jpg]


[image: image19.jpg]


[image: image20.jpg]



[image: image21.jpg]


[image: image22.jpg]



[image: image23.jpg]


[image: image24.jpg]


[image: image25.jpg]



[image: image26.jpg]


[image: image27.jpg]


[image: image28.jpg]


[image: image29.jpg]



[image: image30.jpg]


[image: image31.jpg]



[image: image32.jpg]


[image: image33.jpg]



[image: image34.jpg]


[image: image35.jpg]o w ow ow ow g end




[image: image36.jpg]


[image: image37.jpg]



[image: image38.jpg]


[image: image39.jpg]



[image: image40.jpg]


[image: image41.jpg]



[image: image42.jpg]



[image: image43.jpg]



[image: image44.jpg]AMAMAANA VA

EAAAAAMANANA v




[image: image45.jpg]



[image: image46.jpg]


[image: image47.jpg]


[image: image48.jpg]


[image: image49.jpg]



[image: image50.jpg]


[image: image51.jpg]


[image: image52.jpg]


[image: image53.jpg]


[image: image54.jpg]



[image: image55.jpg]


[image: image56.jpg]



[image: image57.jpg]Harning Install, uye, and %
30%ain gy figher ingtructiont |
2ng

© 2olicable Fageral, Statt

P9 LoCI T ayyp arer codes ‘
I NERa No 68 ot
"2l it gy regulator v
Poingip

im™ing verticaiy down o /
" 2 Drotactive sover



[image: image58.jpg]



[image: image59.jpg]



[image: image60.jpg]


[image: image61.jpg]



[image: image62.jpg]


[image: image63.jpg]



[image: image64.jpg]


[image: image65.jpg]



[image: image66.jpg]


[image: image67.jpg]



[image: image68.jpg]


[image: image69.jpg]



[image: image70.jpg]—




[image: image71.jpg]



[image: image72.jpg]



[image: image73.jpg]



[image: image74.jpg]


[image: image75.jpg]



[image: image76.jpg]



[image: image77.jpg]



[image: image78.jpg]


[image: image79.jpg]



[image: image80.jpg]


[image: image81.jpg]



[image: image82.jpg]


[image: image83.jpg]


[image: image84.jpg]



[image: image85.jpg]


[image: image86.jpg]



[image: image87.jpg]


[image: image88.jpg]



[image: image89.jpg]


[image: image90.jpg]



[image: image91.jpg]


[image: image92.jpg]



[image: image93.jpg]


[image: image94.jpg]



[image: image95.jpg]


[image: image96.jpg]



[image: image97.jpg]


[image: image98.jpg]



[image: image99.jpg]


[image: image100.jpg]



[image: image101.jpg]


[image: image102.jpg]



[image: image103.jpg]


[image: image104.jpg]


[image: image105.jpg]


[image: image106.jpg]


[image: image107.jpg]



[image: image108.jpg]


[image: image109.jpg]



[image: image110.jpg]


[image: image111.jpg]



[image: image112.jpg]


[image: image113.jpg]


[image: image114.jpg]



[image: image115.jpg]Therma] Energy Fluid

mal energy fiuid for exclusive
Use with fes system-

714

£

e
e BRIDGEPOINT oy
‘lm ~For
ik R, profesion! 5 s
WMaty,

& : "
buteq through @imerlinksupply éc
Contenys; One s, Gallon (3.79 Litres) %




[image: image116.jpg]


[image: image117.jpg]



[image: image118.jpg]



[image: image119.jpg]



[image: image120.jpg]


[image: image121.jpg]



[image: image122.jpg]


[image: image123.jpg]



[image: image124.jpg]


[image: image125.jpg]



[image: image126.jpg]) i i

i i
L i




[image: image127.jpg]



[image: image128.jpg]


[image: image129.jpg]



[image: image130.jpg]



[image: image131.jpg]1IN i S8610M Continuous Retry
AWAQNM‘C 24V, 60 Hz; PV=1A Max.; MV=2A Max

15 Sec. Trial for Ignition

Explosion Hazard
Can cause serious





[image: image132.jpg]


[image: image133.jpg]! coM ;
“ 120V A

AVENIERS e\

PRI-120 VAC ® coavae
A0 VA anss? |
soorz G \ ) 10545~ L
PRODUCTS UN\_\M\TED

ASM_INMEXICO tqcu { Electronics
T




[image: image134.jpg]


[image: image135.jpg]



[image: image136.jpg]



[image: image137.jpg]



[image: image138.jpg]



[image: image139.jpg]


[image: image140.jpg]



[image: image141.jpg]



[image: image142.jpg]


[image: image143.jpg]



[image: image144.jpg]


[image: image145.jpg]



[image: image146.jpg]


[image: image147.jpg]



[image: image148.jpg]


[image: image149.jpg]


[image: image150.jpg]


[image: image151.jpg]


[image: image152.jpg]



[image: image153.jpg]5 -

SAVHLS MOL ¥ NMOD 311





[image: image154.jpg]i ﬁ. sumog-a11 340ds ox.:o,n. |
oeE! -9%.1 (2 ‘

| 10ss0#




[image: image155.jpg]



[image: image156.jpg]


[image: image157.jpg]



[image: image158.jpg]


[image: image159.emf] 

     


[image: image160.jpg]


[image: image161.jpg]



[image: image162.jpg]


[image: image163.jpg]



[image: image164.jpg]


[image: image165.emf] 

   


[image: image166.jpg]


[image: image167.jpg]


[image: image168.jpg]


[image: image169.jpg]T 5
R

L





[image: image170.jpg]


[image: image171.jpg]



[image: image172.jpg]


[image: image173.jpg]



[image: image174.jpg]



[image: image175.jpg]


[image: image176.jpg]



[image: image177.jpg]


[image: image178.jpg]



[image: image179.jpg]


[image: image180.jpg]A //////// .
i //////// i

N il o
///////// S

Qe
””’////f /////ﬂ'f:’l’l’l”\’\)\\\\\\\\\\\

N ¢





[image: image181.jpg]


[image: image182.jpg]



[image: image183.jpg]A //////// .
i //////// i

N il o
///////// S

Qe
””’////f /////ﬂ'f:’l’l’l”\’\)\\\\\\\\\\\

N ¢




[image: image184.jpg]A //////// .
i //////// i

N il o
///////// S

Qe
””’////f /////ﬂ'f:’l’l’l”\’\)\\\\\\\\\\\

N ¢



















































































�			








�			








			NM4202


			Quick Connect 3/4” Female


			Brass		O-RING: NM4199








			NM4200


			Quick Connect 1/2” Female


			Brass		O-RING: NM4198





Bridgepoint Parts Catalog


Section XXXVII: TES Thermal Energy System 			Page 1


			 			Page 1





�			








			NM4203


			Quick Connect 3/4” Male


			Brass











			NM4201


			Quick Connect 1/2” Male


			Brass








�			








1 – 36”





1 – 12”





1 – 26”





�		








			NM4209


Barb 1” x 1” MPT Brass





�			








			NM4210


			Hose 1-1/4” ID 


			Sold per inch








�		








			NM4211	


			Hose 1” ID


			Sold per inch











			NM4234


			Pressure Reducing Valve





�





			NM4237	


			Hose 5/8” ID


			Sold per foot








�		








�





�			








			NM4205


			Spiro-vent


			





Replacement SS Screen: NM4205A








1 – 38”


1 – 36”


1 - 5”








1 – 15”


1 – 24”


1 - 29”


1 – 27”








			NM4274	


			Hose 1/2” ID


			Sold per foot








�		








�			








			NM4206


			Spiro-Trap Solution Filter


Old Style Filter


Replacement SS Screen: NM4205A








�		








			NM4340	


			Hose 3/8” ID


			Sold per foot





			NM4303	


			Hose 1” ID Hi-Temp Hi-Pressure


			Sold per Foot


			


			Heavy Duty Hose Clamp: PH040





�





�			








			NM4207


			Expansion Tank - TES





�





			NM4269


			Clamp Expansion Tank Support





�			








			NM4219


			Bushing 1-1/2” MPT x 1-1/4” FPT


			Brass





	�		








			NM4212


			Valve 3/4” Gate – Brass


			TES by-pass valve





�			








			NM4220


			Nipple 1-1/4” Close - SS





	�		








	�		








			NM4221


			Elbow 90˚ - 1-1/4” MPT x


			1-1/4” Barb - Brass





			NM4222


			Bushing 1-1/4”MPT x 3/4” FPT


			Brass





			BR010


			Barb 1/4” x 1/8” MPT Brass





			BR288


			Elbow 90˚ 3/4” Street M-F Brass








�			








		�	








Bridgepoint Parts Catalog


Section XXXVII: TES Thermal Energy System 			Page 2





�





			BR018


			Barb 3/8” x 1/8” MPT Brass





�





			BR290


			Elbow 90˚ 1/8” F-F Brass








			








�			








			BR026


			Barb 1/2” x 1/2” FPT Brass





�





			BR292


			Elbow 90˚ 1/4” F-F Brass





�		








			BR032


			Barb 1/2” x 1/2” MPT Brass








	�	








			BR020


			Barb 3/8” x 1/4” MPT Brass








�			








			NM4223


			Barb 1” x 3/4” MPT Brass








�





			BR072


			Nipple 1/4” Hex Brass





			BR036


			Barb 5/8” x 1/2” MPT Brass








�





�





			BR203


Bushing 3/4”MPT x 1/4” FPT Brass





			BR078


			Nipple 3/4” Hex Brass





�			








�		








			PP12-800261


			Elbow 45º 1/4”Flare x 1/8” MPT


			Brass








			BR086


			Nipple 1/2” Close Brass











�			








1 – 16”





�			








			NA40A


			Solution Hose HP 3/16” ID


			Sold per inch





			BR248


			Tee 3/4” FPT Brass








�			








�		








			AH02


			Hose End 1/4” MPT


			For 3/16” Hose





			BR278


			Elbow 45˚ 3/4” Street M-F Brass





�			








�			








			PAF06


			Hose End 1/4FT Female Swivel


			For 3/16” Hose








			BR286


			Elbow 90˚ 1/2” Street M-F Brass





�			








�		








			PP14-806540


			Acorn Strainer 1/2” FPT





�





			BR250


			Tee 1/8” Street M-F-F Brass





�





			NM5004


			Lid Assembly – Plastic


			6-1/2” Diameter w/ deck plate


			O-ring Lid Seal: NM5004A





�	








			NM5059


			Gasket – Lid Assembly


			





			NM4204


			Pump TES Solution


			SS w/ High Temp Seals


			Repair Parts:


			Seal Guidevane Ring:	PG349


Mechanical Seal:		PG383


Casing O-ring:		PG513


				





�			








�			








			NM4227


			200,000 Btu Propane Boiler


			Assembly – Outdoor Unit


Specify required burner jets for altitude adjustment when ordering





Bridgepoint Parts Catalog


Section XXXVII: TES Thermal Energy System 			Page 3








�			








			NM4380


			250,000 Btu Propane Boiler


			Assembly – Outdoor Unit


Specify required burner jets for altitude adjustment when ordering











�			








			NM4215


			Propane Hose Assy - 10’ X 1/2”


			With 3/8” MPT & 1/2” MPT ends








			NM4217


			Adapter Female POL x 1/4” MPT


			Brass


			





�		








			NA2250


			Hose Clamp #6 Mini SS





�			








�		








			PHO11


			Hose Clamp #20 SS


 











			PMEF-181


			Adapter Male POL X 1/4” MPT


			Brass








�			








�			








			PH05


			Hose Clamp #4 Mini SS








�





			NM4320


			Propane Pressure Regulator














�			








			PH09


			Hose Clamp #12 SS








			PA223


			Heyco Cable Clamp





�			








�		








			PA082


			Electrical Cord 8’ - 15amp


			With Male Plug





			PR709020


			Pilot Light Assembly – LP Gas


			TES





�





�			








			AX33


			Power Cord 50 ft


			12/3 W/ Male & Female Ends





�			








			NM4117


			Rubber Grommet 3/4”ID





	NS130


			Power Cord 16/3 x 8 ft














	�		








			NM4376


			Door SS TES Control Panel


			 250,000 Btu units 


		





			NM4218


			Lock Assembly – TES Doors


			Control Panel & Hose Access 





�





			NM4374


			Plexiglass TES Control Panel


			 250,000 Btu units 


		





			NM4265


			Plexiglass TES Control Panel


			Standard 200,000 Btu units 





�			








�			








Shown with protective film on surface.





Shown with protective film on surface.





			NM4318


			Filter Assembly TES


			1 micron





			NM4319


			Element TES Filter 1 micron


			Replacement element for NM4318


			





�





		�	








			NM4081


			Nut 10-32 Hex Nylock SS








Bridgepoint Parts Catalog


Section XXXVII: TES Thermal Energy System 			Page 4








�





	�		








NM4115


			Screw 10-32 x 1-1/4” BH SS








NM4240


			Screw 10-32 x 7/8” BH SS








	�		








�





PP27-100221


			Trim lock 7/16” X 1/16” Hard


			Sold per foot			














�			








			NM4226


			Pin Snapper – TES Foot Mount








�





NM4273


			Trim lock 3/8”X 1/16” Rubber 


			Sold per inch			











			NM4277


			Plate TES Wheel Mount








�			








�





PR060001


			O-Ring Header Seal 


			Inlet & Outlet 1” ID x 1-3/8” OD











�			








			AT52


			TES Wheel Kit


			2- Rigid, 2-Swivel and Hardware





			NM4224


			Wheel Pneumatic – Swivel


			Swivel Lock: NM4224A





�			








�			








			NM4263


			Screw TEK #10 x 5/8”


 Hex Head SS














�		








�			








			NM4225


			Wheel Pneumatic - Rigid











�			








			NM4266


			Rivet 3/16” x 1/4” long SS





�			








			NM4275


			Tank TES Fluid Reservoir


			Aluminum





�		








			NM4255 


			Washer #10 Flat SS





			NM4249


			Handle TES











�		








			NM4257


			Washer 5/16” Flat 





�





			PR30-0360


Pressure Relief Safety Valve 


50 PSI





	








�








�		








			NM4258


			Nut 5/16-18 Hex Nylock 








�		








			NM4261


			Nut 1/4-20 Hex Nylock SS 








			NM4316


			Valve Pressure Release – TES


			Manual Operation














�			








			NM4259


			Screw 5/16-18 x 3/4” HXHD SS 








�		








			NM4260


			Screw 1/4-20 x 1” BH SS








�		








�			








			NM4238


			Gasket Black Silicone - TEX








�			








Bridgepoint Parts Catalog


Section XXXVII: TES Thermal Energy System 			Page 5








			MB212


			TEX Thermal Exchanger 


			Complete





			NM4241


			Retainer TEX Gasket			











�			








			NM4250


			Body TEX Thermal Exchanger


			Roto-molded Plastic			








�			








			NM4245


			Clamp Toggle - TEX





�			








			NM4252


			Coil TEX Thermal Exchanger


			








�			








			NM4246


			Stud 5/16-18 x 2”


			TEX Clamp











	�		








�





			NM4214


			Barb 1/2” x 3/4” MPT Brass











			NM4247


			Bar 1/2” x 3” - 	TEX Clamp





�





			NM4284


			TES Label Kit











�		








			NM4290


			Nut 5/16-18 Hex





�			








			BR282


			Elbow 90˚ 3/4” Street M-F Brass








�			








			NM4235


			Ferrule 5/8” Hose Crimp





			NA036


			Tubing 1.5” Heat Shrink


			Sold per inch





�





			NM4208


			Ferrule 3/4” Hose Crimp








�			








			BR048


			Barb 3/4” x 3/4” MPT Brass





�			








�





			NA038


			Tubing 2” Heat Shrink


			Sold per inch





�			








			NM4264


			Washer 2” x 1” Flat SS








�			








BR242


			Tee 1/4” FPT Brass


			








			AT82


			Safety Lock-out Cap


			Propane Tank Valve Cover


			Does not include lock





�	








�			








			NM4378


			Filter Y-Strainer – TES


			Old style pressure relief system





			NM4271


			Knob Panel Door


			


			Washer: NM4313





�	








�			








CR01GL


			TES Thermal Fluid - Gallon











�





			PR71579


			Main Gas Valve – TES


			Propane 2-stage








�	








			PR4810


			Switch Toggle w/ ON / Off Plate


			TES Control Panel





�			








Bridgepoint Parts Catalog


Section XXXVII: TES Thermal Energy System 			Page 6








			NM4300


			Hour Meter Rectangular 120VAC


			Without bezel – Snap-in





�			








			PR1425


			Flow Switch - TES





�			








			Burner Jets


			(200,000 BTU units - 4 required)


			(250,000 BTU units - 5 required)





			NM4295 - Burner Orifice #47


			For 0 – 1999 ft Elevation


			NM4294 - Burner Orifice #49


			For 2000 – 3999 ft Elevation


			NM4296 - Burner Orifice #50


			For 4000 – 5999 ft Elevation


			NM4298 - Burner Orifice #51


			For 6000 – 7999 ft Elevation








�





			PR0102


			Hi-Limit Control – TES


			Honeywell New Style








�	








�





			PR1417


			Operator Control 2-Stage


 TES - Honeywell Old Style








�			








			PR1417A


			Operator Control 2-Stage


			TES - Jumo New Style


			





			PR100251


			Burner Tube SS – TES


			(200,000 BTU units - 4 required)


			(250,000 BTU units - 5 required)








	








�			








			PR14117


			Hi-Limit Control 


TES – Jumo Old Style


			





�





	








�





			








			NM4404


			200˚F Temperature Switch


			Auto Reset – Flame Roll-out switch





			NM4322


			Strap Burner Tube TES - Long











�





�





			NM4409


			230˚F Temperature Switch


			Auto Reset – Flame Roll-out switch





			NM4322S


			Strap Burner Tube TES -Short











�





			PR16-0054


			Burner Ignition Control – TES


			(Replaces older gray control)





�





AP23        	


FloJet D3621E3011A


30PSI Demand flow – 1.2GPM 


115VAC motor – 0.5amp


EPDM - Chemical Resistant Diaphragm 


		


Demand Switch:				PF02090-117


Valve Chamber:				PF20914-003A


Upper Housing:				PFDH21E301


Kit Lower Housing w/ Cam & Diaphragm:	PF21022-030A








�			








�			








PR15-0002


			Transformer – TES


			120 VAC to 24 VAC








�			








			PR14-0004


			Gauge Temperature


 TES – Inlet / Outlet








			NM4328


			Floor Anchor D-Ring








�








			








			








			








Bridgepoint Parts Catalog


Section XXXVII: TES Thermal Energy System 			Page 7








			AT78


			Support Stand – TES Mount


	








�





�		








			NM4329


			Back-Up Plate Floor Anchor








�			








			








			








			AT70


			Propane Tank Rack


			Holds three 100# tanks





			NM4352


			Bracket Propane Regulator


				Mounting - TES














			AT72


			Shelf 4-Air Movers





			AT74


			Shelf 6-Air Movers





�		








	








			








�			








NM4354


			Plate TES Propane Bulkhead


			








�		








	








			








			AT76


			Kit Trailer Fan





�			








�		








			NM4334


			Bulkhead Fitting 1/2” FPT


			Brass














	








			








			AX119


			Hose Hanger Strap w/ Velcro


			3” x 23”











�			








�		








			NM4336


			Ball Valve 1/2” FPT - Brass


			Gas Shutoff








	








�		








			NM4230


			Gauge Water Pressure 60psi


			








�		








			AT68


			Hose Assembly – Propane


			Dual Tank Adapter




















			








			NM4346


			Nipple 1/2” x 1-1/2” Steel





�			








			NM4348


			Nipple 1/2” x 2” Steel








�		








			AT69


			Hose Assembly – Propane


			Triple Tank Adapter








			








�			








			NM4350


			Nipple 1/2” x 2-1/2” Steel








�			








			NM4332


			Propane Hose Assy - 15’ X 1/2”


			With 3/8” MPT & 1/2” MPT ends








�			








�





�





�





			AT98


			Ratchet Straps Red – 2 PACK


			6’ - 1200LB





			AT99


			Ratchet Strap Black


15’ - 1200LB








			AT100


			Ratchet Strap – E-Track








			AT101


			Tie-off Ring – E-Track











�





			PR09-0123


			Outdoor Vent Cap 7”


			200,000 btu Tes Outdoor Operation








�





�





			NM4344


			Connector 1/2” Female Flare X


			1/2” Female Flare Brass


	








			NM4394


			S-Hook - TES Anchoring











�





			NM4392


			Turnbuckle - TES Anchoring


	








�			








			AX87B


			Carabiner Clip - Aluminum


			3” x 5/16” - 150 lb Capacity








�





			NM4370


Screw #10 x 1” SS Pan Head Phillips Self Tapping





		








			NM4390


Adapter Exhaust Pipe Galvanized


7” Diameter x 8” Diameter


			Standard 200,000 BTU TES units


			


8” X 10” Adapter – NM4391





			NM4387


			Exhaust Pipe Galvanized


7” Diameter x 36”


			Standard 200,000 BTU TES units


			


8” Dia. x 36” Pipe – NM4388





			NM4330


			Exhaust Cap TES Trailer Mount 


			7” J-cap


			Standard 200,000 BTU TES units


			


8” J-Cap – NM4331











			NM4342


			Adapter 1/2” Male Flare X


			3/8” FPT Brass








		








�





			NM4339


			Adapter 1/2” Male Flare X


			1/2” FPT Brass








�





			NM4337


			Adapter 1/2” Male Flare X


			1/2” MPT Brass








�





�





�








�





�








Bridgepoint Parts Catalog


Section XXXVII: TES Thermal Energy System 			Page 8








�





			NM4372


Screw #8 x 1/2” SS Pan Head Phillips Self Tapping


			





		








NM4325A	


			Filter Cartridge – AT80 Kit				Old Style Filter Kit


			





			


			





		








�





�





			AT84


			TES Fluid Filter Kit


Kit includes 3 Filter Cartridges


			Filter Cartridges: NM4356A





		








�





�





�











			AH131


			Hose Assembly Blue – TES


			3/4” x 5’ w/ 3/4” QC’s 


		








			AH130


			Hose Assembly Red – TES


			3/4” x 5’ w/3/4” QC’s 


		








AH105


			TES Outlet Solution Tee – Brass


			(1) 3/4” male QC


(4) 1/2” female QC		














AH103


			TES Inlet Solution Tee – Brass


(1) 3/4” female QC


(4) 1/2” male QC











			





		














�





�





�		








�			








�





�





�





�





�





�





AH119


			TES Outlet Solution Tee – Brass


			(1) 3/4” male QC


(3) 1/2” female QC		








			AH106


			TES Outlet Solution Tee – Brass


			(1) 3/4” male QC 


(2) 1/2” female QC














			AH116			


			Hose Assembly Red – TES


			5/8” x 25’ w/ 1/2” QC’s 


 








			AH112


			Hose Assembly Red – TES


			5/8” x 50’ w/ 1/2” QC’s 


 





	








			AH114


			 Hose Assembly Blue – TES


			5/8” x 50’ w/ 1/2” QC’s 














		








			AH110


			Hose Assembly Blue – TES


			3/4” x 50’ w/ 3/4” QC’s 





			AH108


			Hose Assembly Red – TES


			3/4” x 50’ w/3/4” QC’s 


 





	








			AH115


			TES Inlet Solution Tee – Brass


3/4” female QC


(3) 1/2” male QC














			AH104


			TES Inlet Solution Tee – Brass


3/4” female QC


1/2” male QC








			AH118			


			 Hose Assembly Blue – TES


			5/8” x 25’ w/ 1/2” QC’s 























Bridgepoint Parts Catalog


Section XXXVII: TES Thermal Energy System 			Page 9











